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Homework 7-6

1la. 5/13 b. 5/13
2. -0.98

4. -3/5
5a. 0.8 b.-0.8, 323.1°

7. 28.9"

6. No. ex: sin(90) # sin(30) + sin(60),

3a. £3/5 b. Depends on what quadrant 0 is in.

1#1.366

c. 4/5
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c. Ifsin(B) = % and s in quadrant |, what is
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b. Find your answer using the Pythagarean Identity

3. Q. \fcoslﬂj— — whofore |wo poss\b\/téalucsfm sin

Algebra 2 Homework 7-6

sin(6)is 0.7 and Bis in Quadrant Il. (Regents question)
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1. Onaunit circle, sin(€)=— and 6 is acute. What is the exact values of cos(8)2
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a. Find your answer by drawing the triangle in the correct quadrant in standard position.

2. Using the identity sin(6)+ cos’(6) = 1, find the value of tan(B), fo the nearest hundredth, if
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4. Given sin(e)fg and 6 is an obtfuse Qng\e less than 1 radians, use the Pythageorean identity

to find the exocf VOIU:,CZZZELQ@ N I ) a%[g) _t /[._
(.kL) 300526 =| Qi o€ <O
2y ceos(8) = ,
Ay o= 22 : o
V@:%f
5. Using the identity sin?(8) +cos?(B) =1, if sin(8) is -0.4 and 8 is in Quadrant IV,
a. Find cos[e) to the nearest Temh
SO b ros A = oL C@S‘(@)O
(0Tt e = =
&951(9—»@% cos(6) . & )
(EG =18 —
b. Find tan(6) and 59%8;10 the necrest tenth.
-34‘\»\(@ - b . _ ’m "=
#@’f\[&l) _CBS(_\&) = 5= 75 @)
o = - =
oL AT les (§) = 30,9° ) 80+

&= 36036 (13 D)
6. Does sin[A+B) = sin(A) +sin(B)2 Justify your answer by substituting numbers for A and B.
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7. A wheel with a dot on its edge rolls on the ground. The radius of the wheel is 15". When the
dot is at the position shown below, at an angle of 112°, what is the distance of the dot above
the ground, to the nearesi tenth of an mchE
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secant  2sec(B) = _'_, where
e ©s @)+ O

cosecant 2 csc(8) S‘:‘@) where s (9>__": O

cotangent=cot(8) = _‘ where ".qf\(s) # O
Tan(©)

remember: tan(6 —s'ﬂG cot(B) = ms@
Sm(G

Reciprocal functions have eQ(-uvct signs.
S |A
Cot T ‘ Q Sec.
Aug 9-4:57 PM

Reciprocal Function Examples:

1. If sin{A) = 3/5, then csc(A) = A

2. If tan[A) = 17/12, then cot(A lz/1‘7

3. a.lf cos(A) =-6/9, then sec(A) = - q/é

b. What quadrant(s) could angle A be in?l_l
4. If cos(A) = 0, which must always be true
a. sin(A) >0 @

b. tan(A) =0 d. csc(Aa)=0

R 5. Using the unit circle below, explain wh\,: csc(B) = 1/y.

2 I Hhe Sn (0) = 4 and

Cs< (9) 'S & rcc.uploc«\ Funcl’wv\
of sin(6) Hen csc(®)-! 7
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Finding Trig Values:

The value of a specific function can be found if you know:

a. coordinates of a point on the terminal side OR

b. another function value & quadrant in which the angle lies.

Goie: r = radius of the circle [and hypotenuse), and the radius will always be posi’rivep

H

g. cot(8) =

1. A Find:
4 eﬁ a r = 5
< 3 -5
b. sinG) & = e.csc(B) %
oY
C. COS(6) = o f. sec(B) = =

4
5
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2. Iftan(8) = % and 8 is in Quad ll, find csc(8).

o
L. I SH

-9

<
x:J4T=1¢
X :J33

"3 = csc(O) : _-5-
3
Y v |
3. Ifsin[B) = —; and sec(8) > 0, determine the quadrant in which & lies, sketch the
triangle and find the remaining trig functions.
s @ -7

sin(6) :-‘1/2 csc() = /"f
, 5 cos(6) A sec(s) {\fg VS
tan(6)= 4B cot(g) =%
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4. Ifcos(B) = _?_ and & lies in quadrant IV, sketch the triangle and find the

remaining trig functions.

J 17%-(st
@ 5ﬁd csc[B) =42, find cos(8).

\ = cos(®) - -1
. = s

T@

sin(8) :_?/EZ csc(0) :_n/?

cos(0) =9 seclo)="Ys
_8 tan(8) = ?/IS cot(g)="_ 'S/{

Aug 9-4:59 PM

the terminal side of £8is -5, find the sin (8).
-5 A (6): ~J>9
‘ﬁ < <
VT35 : {39

7. If the terminal side of £6 passes throught the point (6, -7}, sketch the angle in

. sk (6) =

33
X <+[¥S

6. If the radius of a circle is 8, 6 is in quadrant lll, and the x-coordinate of a point on

standard form and find all of the trig functions. J-—
L] -7 Pe——

N‘_’ cos(@) & ?c(e)‘fg
A T tan @) 2 caHO) -G
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Application Word Problem:

A passenger boards a Ferris wheel ride direcily below the center. The wheel has g radius of
25 feet. His friend takes a picture of him when the wheel has rotated 230° counterclockwise.
What is the straight-line distance of the man from his starting position when the picture was

taken, rounded to the nearest tenth?

2s o
ad Sin 5 T X
- 25
130
“N* X = 22.L57
XL _
45.3 £
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